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15 mm Exit y vs. x (Success)

I
a1

_!“I“I___I”I”!__I“I“_I”I”!.“I“I“I___I”!”I___I“I“I_“!”I”!“I“I__!”I”I_“I“I“!_

Exity (mm)

_]-5__i--I“I“-I”I”i--l--l-”I”I”E[--I--I“I“-I”i--l---l--l--I“-i--l--i“I“I“]E”I”I-“I“I--E

-15 -10 5 0 5 10 15
Exit x (mm)

15 mm Exit x vs. z (Failure)

[E
o1

_!-_-I_-_I-_-I_-_I-_-!_-_I-_-I_-_I-_-I_-_!-_-I_-_I-_-I_-_I-_-!_-_I-_-I_-_I-_-I_-_!-_-I_-_I-_-I_-I_

Exit X (mm)

—15:1'....I T T | | T T | | T N | | 111 )
-15 -10 5 0 5

Exit z (mm)

15 mm Exity vs. x (Failure)

15__!“I“!”I”I”!“I__I“_I”I__!.“I“I“I"_I”!”I_“I__I“I_“!__I”!“I“I"!”I”I_“I__I“!__ |

Exity (mm)

IIIJIIIIlIIIIlIIIIlIIIIlIII

_:|-5__i"u"i"u"u"i''|''f"u"u"if''|''u''f''|''i''i''|''|''i"i"u"i"u"f'li"u"u"]"u"E
-15 -10 5 0 5 10 15

Exit X (mm)

15 mm Exity vs. z (Failure)

_!-_-I_-_I-_-I_-_I-_-!_-_I-_-I_-_I-_-I_-_!-_-I_-_I-_-I_-_I-_-!_-_I-_-I_-_I-_-I_-_!-_-I_-_I-_-I_-I_ a

I__I__I_‘I__I__I__I_!_I_!_!_I__I__I__I__I__I__I__l__l__l__l__l__l__l__l_

Exit z (mm)



1800}
1600f
1400F
1200f
1000f
800f
600f
400f
200f

350¢
300F

250

200f
150F

100F

15 mm Entrance Theta

IIII|IIII|IIII|IIII|IIII|IIII|IIII|II—

10 20 30 40 50 60 70
Entrance Theta (deg)

15 mm Exit Phi (Success)

50F

-|-'I-1--|--|--|--|--r-r-r-|-]-1-1-1--|--|--|--r-r-r-I-|-1-1--|--|--|--|--r-r-l-|-

—150 ~100 -50 0 50 100 150

Exit Phi (deg)

15 mm Exit Theta (Success)

500

400

300

200

100

III|IIII|IIII|IIII|IIII|IIII|IIII|II—

%

10 20 30 40 50 60 70
Exit Theta (deq)

15 mm Exit Theta vs. Entrance Theta (Success)

~ FT

III|IIII|IIII|IIII|IIII|IIII|IIII|II—
.............................................. —

10 20 30 40 50 60 70
Entrance Theta (degq)



15 mm Entrance x Efficiency
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35 mm Exit y vs. X (Success)
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65 mm Exity vs. x (Success)
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85 mm Exit x vs. Entrance x (Success)
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90 mm EXxit y vs. X (Success)
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